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A FORMULA SHEET IS INCLUDED ON PAGES 3-4

hnyqur name on all pages which you hand in, and number them. Write the total number of pages you
gmd in on the first page. Write clearly and not with pencil or red pen. Always motivate your answers.
uccess!

Problem 1 Connected components (20 pt)
Consider a binary image f with pixel values 1 (foreground) and 0 (background) on a uniform pixel grid.

a. (5pt) Define the concept of m-connected component of the foreground, where m = 4 or m = 8; same
for the background.

b. (10pt) Consider the binary image in Figure 1(a). Black dots represent foreground pixels, empty cells
background pixels. Sketch the connected components of this image when choosing m-connectivity
(m = 4 or m = 8) for the foreground and n-connectivity (n = 4 or n = 8) for the background, for
all four combinations of m and n, ie., (1)m =4n =4, 2Q)m =4,n =8, 3)m = 8,n = 4;
(4) m = 8,n = 8. Use upper case letters to label the pixels of the connected components of the
foreground, and lower case letters for those of the background.

¢. (5pt) Assume that the image in Figure 1(a) was obtained after digitizing a continuous image of a black
ellipse on a white background. Which of the four combinations in the previous question would best
represent the topology of the continuous image? Motivate your answer.
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Figure 1: (a): binary image. (b): grey scale image.

Problem 2 Spatial filtering (25 pt)
Consider spatial filtering with a 3 x 3 mask of a grey scale image.

a. (3pt) Give the filter mask in the case of uniform filtering. What is the goal of uniform filtering?

b. (3pt) Give the filter mask in the case of Laplacian filtering (several answers possible). What is the goal
of Laplacian filtering?

¢. (4pt) Define the median filter with a 3 x 3 mask and sketch the output image when applying this filter
to the image in Figure 1(b). What is the goal of median filtering?

d. (5pt) Linear and space-invariant (LSI) image filters can be represented as a convolution with a kernel
h called the “point spread function”. Explain this name for h.

e. (10pt) Describe the main steps in the implementation of convolution filtering by means of frequency
domain techniques.
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Figure 2: (a): grey scale image. (b): CT image. (c): two-level wavelet decomposition of (b).

(continue on page 2)
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Problem 3 Wavelet transforms (20 pt)

a. (5pt) Consider the following input vector: co = (8, 4,6,2). When the unnormaiized 1-D Haas scal-
ing and wavelet functions hy = (1,1), hy = }(1,-1) are used, the one-level (J = 1) wavelet
decomposition of ¢, is the vector (6, 4, 2, 2). Explain this result. _

b. (5pt) Describe in words how you can build a J-level 2D discrete wavelet transform of an image by
using separable scaling and wavelet functions. Explain the various subimages in the right image of
Figure 2,

¢. (Spt) Consider the 4 x 4 grey scale image in Figure 2(a). Compute the one-level (J = 1) 2D discrete
wavelet transform of this image, assuming separable scaling and wavelet functions constructed from
the unnormalized 1-D Haar scaling and wavelet functions, as defined above in question a.

d. (5pt) Explain how wavelet transforms can be used for image compression.

Problem 4 Morphological operations (15 pt)

Consider a digital binary image X consisting of NV (filled) black squares on a white background, where the
i*® square has a size of L; by L, pixels, with L; > 1 an integer foralli = 1,2,..., N. The squares may
touch or partly overlap; see Figure 3.
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Figure 3: Binary image X (the bounding box is not part of the image X ).

Assume that the number of squares and their sizes are unknown. Define a sequence of image operations on
the image X, only making use of (i) set operations, and (ii) morphological operations, which produces the
required result in the following cases:
a. (10pt) The output image should only contain the square(s) in the input image whose length/width is ar
least equal to a given integer value L (with L > 1).
b. (5pt) The output image should only contain the square(s) in the input image whose length/width is
precisely equal to a given value L (with L > 1).

Problem 5 Image segmentation and description (20 pt)

(a) (b) ©)

a. (10pt) Consider object segmentation. You can choose from the following collection of segmentation
methods: (i) thresholding; (ii) Marr-Hildreth’s method; (iii) split and merge; (iv) watershed method.
For each of the four images in the figure above, indicate which segmentation method(s) you think
perform(s) best, and why. ' ' .

b. (10pt) Describe at least two contour descriptors and two regional descriptors which can characterize
objects in binary or grey scale images.



